

Based on an electromechanical model of an ideal elastic- viscous-plastic material with delayed fluidity, the propagation of elastic-viscous-plastic waves through a semi-infinite bar is considered. The problem is solved in the statement when an impact on the end of an unloaded bar imparts a constant velocity to an end section. From the solution of the equations of the dynamic material behavior behind the front wave of delayed fluidity, the material stressed-strained state is measured. In comparison with a limited condition, when a constant force is suddenly applied to the end surface, the behavior of a disturbed region of the bar is specially featured. The possibility of occurring a singular solution of the determining equations with the special features in the form of discontinuity points of the first kind is demonstrated. Such solution describes a strange behavior of the material, the step-bystep motion resembling that in trembling.





 V_0 .

t = 0, t > 0, t > 0, t > 0, t_{xx}^* , -

t_s. -, , , , , ,

[6, 7], $c = \sqrt{\frac{E}{m}} \quad (E - \frac{1}{m}),$ $t_{xx}^* = \frac{EV_0}{c}$ $v_{xx}^* = \frac{t_{xx}^*}{E} = \frac{V_0}{c},$ $t_{xx}^* = \frac{t_{xx}^*}{E} = \frac{V_0}{c}.$

÷ ,

† * _{xx}



,

.



_

-

-

$$s_{ij}s_{ij} = \frac{2}{3} \left[\dagger_s + k \left(\frac{3}{2} \dot{e}^e_{ij} \dot{e}^e_{ij} \right)^{1/n} \sqrt{\frac{\sqrt{\frac{3}{2}} s_{ij} s_{ij}}{\dagger_s} - 1} \right]^2.$$
(2)

,

86

•

$$s_{ij}$$
 - , \dot{e}^e_{ij} - , \dot{e}^e_{ij} - . (2)

$$\sqrt{\frac{3}{2}s_{ij}s_{ij}} - \dagger_{s} = 0.$$
 (3)

-.

_

_

_

$$\sqrt{\frac{2}{3}} \dot{e}^{e}_{ij} \dot{e}^{e}_{ij} \leq \dot{V}_{i} \quad , \tag{4}$$

V_i –

,

,

•

,

$$\sqrt{\frac{3}{2}s_{ij}s_{ij}} = \dagger_{s} + \frac{k^{2}}{\dagger_{s}} \left(\frac{3}{2}\dot{e}_{ij}^{e}\dot{e}_{ij}^{e}\right)^{2/n}.$$
 (5)

(5)		-
	,	$s_{ij}s_{ij} > \frac{2}{2} \uparrow_{s}^{2}$.
	, i p	[1],
	V _{ij}	
$\left(s_{ij}-\frac{2}{3}\sim\dot{V}_{ij}^{p}\right)\left(s_{ij}-\frac{2}{3}\right)$	$-\dot{\mathbf{v}}_{ij}^{p} = \frac{2}{3} \left[\dagger_{s} + k \left(\frac{3}{2} \dot{e}_{ij}^{e} \dot{e}_{ij}^{e} \right)^{1/n} \sqrt{\frac{1}{2}} \right]$	$\frac{\overline{\frac{3}{2}s_{ij}^{*}s_{ij}^{*}}}{\dagger_{s}} - 1 \right]^{2}, (6)$

.

$$s_{ij}^{*} -$$

[8, 9], $\dot{\mathsf{V}}_{ij}^{p}$

$$\dot{\mathsf{v}}_{ij}^{p} = \mathbb{E} \, \frac{\partial f}{\partial \mathsf{t}_{ij}} \,, \tag{7}$$

$$\mathbb{E}$$
 - , f - , - (6).

(6) (7)

$$\dot{\mathbf{v}}_{ij}^{p} = 2 \mathbb{E} \left(s_{ij} - \frac{2}{3} \sim \dot{\mathbf{v}}_{ij}^{p} \right).$$

$$\dot{\mathbf{v}}_{ij}^{p},$$
(8)

,

$$\dot{v}_{ij}^{p} = \frac{2\mathbb{E} s_{ij}}{1 + \frac{4}{3} \sim \mathbb{E}} .$$
(9)

$$\dot{V}_{ij}^{p} \quad (6) \quad (9),$$

$$2\mathbb{E} = \frac{3}{2\sim} \left[\frac{\sqrt{\frac{3}{2} s_{ij} s_{ij}}}{\frac{1}{1} s_{ij} + k \left(\frac{3}{2} \dot{e}_{ij}^{e} \dot{e}_{ij}^{e}\right)^{1/n} \sqrt{\frac{\sqrt{\frac{3}{2} s_{ij}^{*} s_{ij}^{*}}}{\frac{1}{1} s_{ij}} - 1} - 1 \right]. \quad (10)$$

$$(10) \quad (9),$$

$$\dot{v}_{ij}^{p} = \frac{3}{2\sim} \left[1 - \frac{\dagger_{s} + k \left(\frac{3}{2} \dot{e}_{ij}^{e} \dot{e}_{ij}^{e} \right)^{1/n} \sqrt{\frac{\sqrt{\frac{3}{2} s_{ij}^{*} s_{ij}^{*}}}{\dagger_{s}} - 1}}{\sqrt{\frac{3}{2} s_{ij} s_{ij}}} \right] s_{ij} .$$
(11)
(11)

(11) ,
[8]:

$$s_{ij} = \dagger_{ij} - \frac{1}{3} u_{ij} \dagger_{kk} , \quad \dot{e}^{e}_{ij} = \dot{V}^{e}_{ij} - \frac{1}{3} u_{ij} \dot{V}^{e}_{kk} ,$$
(12)

, V_{ij} –

-

-

 $\dagger_{xx} \neq 0.$

$$\dot{e}_{ij}^{e} :$$

$$\dot{e}_{xx}^{e} = \frac{2}{3} (1 + \varepsilon) \dot{v}_{xx}^{e}, \quad \dot{e}_{yy}^{e} = \dot{e}_{zz}^{e} = -\frac{1}{3} (1 + \varepsilon) \dot{v}_{xx}^{e},$$

$$\varepsilon = \frac{\dot{e}_{ij}^{e} \dot{e}_{ij}^{e}}{\dot{e}_{ij}^{e}},$$

$$\dot{e}_{ij}^{e} \dot{e}_{ij}^{e} = \frac{2}{3} (1 + \varepsilon)^{2} (\dot{v}_{xx}^{e})^{2}.$$
(14)

(13), (14) (11), :

$$\dot{\mathbf{v}}_{xx}^{p} = \frac{1}{2} \left[\dot{\mathbf{t}}_{xx} - \dot{\mathbf{t}}_{s} - k \left(1 + \varepsilon \right)^{2/n} \left(\dot{e}_{xx}^{e} \right)^{2/n} \sqrt{\frac{\dot{\mathbf{t}}_{xx}^{*}}{\dot{\mathbf{t}}_{s}} - 1} \right], \quad \dot{\mathbf{v}}_{yy}^{p} = \dot{\mathbf{v}}_{zz}^{p} = -\frac{1}{2} \dot{\mathbf{v}}_{xx}^{p} . \quad (15)$$

$$\mathsf{V}_{ij} = \mathsf{V}_{ij}^e + \mathsf{V}_{ij}^p , \qquad (16)$$

$$\dagger_{xx} = E \mathsf{V}_{xx}^{e} \,, \tag{17}$$

$$\dot{V}_{xx}^{p} = \dot{V}_{xx} - \dot{V}_{xx}^{e}, \quad \dot{V}_{xx} = -\frac{\partial V_{x}}{\partial x}, \quad \dot{V}_{xx}^{e} = \frac{\dagger_{xx}}{E}, \quad (18)$$

x.

:

 V_x –

(18),

,

$$\dagger_{xx} = \Phi(\dagger_{xx})^{2n} - \frac{\tilde{E}}{E} \dagger_{xx} + \tilde{V}_{xx} + \delta_{s} .$$

$$k(1 + \epsilon)^{2n} \sqrt{\tau^{*}}$$
(19)

x.

$$\Phi = \frac{k(1+\epsilon)^{r}}{E^{2/n}} \sqrt{\frac{1}{t}} \frac{1}{s} - 1.$$
[9], -

$$\frac{\partial \dagger_{xx}}{\partial x} = \dots \frac{\partial^2 u}{\partial t^2}, \qquad (20)$$

u-

(19), (20)

(19) t, (20) -x,

89

-

$$\frac{\partial \dagger_{xx}}{\partial t} = \frac{2}{n} \Phi \frac{\partial^2 \dagger_{xx}}{\partial t^2} \left(\frac{\partial \dagger_{xx}}{\partial t} \right)^{\frac{2}{n}-1} - \frac{2}{E} \frac{\partial^2 \dagger_{xx}}{\partial t^2} + 2\frac{\partial^3 u}{\partial t^2 \partial x}, \quad \frac{\partial^3 u}{\partial t^2 \partial x} = \frac{1}{2} \frac{\partial^2 \dagger_{xx}}{\partial x^2} . (21)$$

$$(21) \qquad u,$$

$$\frac{2}{2} \frac{\partial^2 \dagger_{xx}}{\partial x^2} + \left[\frac{2}{n} \Phi \left(\frac{\partial \dagger_{xx}}{\partial t} \right)^{\frac{2}{n}-1} - \frac{2}{E} \right] \frac{\partial^2 \dagger_{xx}}{\partial t^2} - \frac{\partial \dagger_{xx}}{\partial t} = 0. \quad (22)$$

$$(22) \qquad , \qquad -\frac{2}{2} \frac{\partial^2 \dagger_{xx}}{\partial t^2} + \frac{1}{2} \frac{\partial^2 \dagger_{xx}}{\partial t^2} + \frac{1}{2} \frac{\partial^2 \dagger_{xx}}{\partial t^2} + \frac{1}{2} \frac{\partial^2 \dagger_{xx}}{\partial t^2} - \frac{\partial^2 \dagger_{xx}}{\partial t^2} = 0. \quad (22)$$

•

$$z_1 = t - \ddagger - \ddagger - \frac{x}{c}, \quad z_2 = t - \ddagger + \frac{x}{c}.$$
 (23)

(22)

$$\dagger_{xx}(t,x) = \dagger_{1xx}(z_1) + \dagger_{2xx}(z_2),$$
(24)
.

 \dagger_{1xx} , \dagger_{2xx} –

$$\frac{\partial \dagger_{xx}}{\partial t} = \frac{d \dagger_{1xx}(z_1)}{d z_1} + \frac{d \dagger_{2xx}(z_2)}{d z_2}, \quad \frac{\partial^2 \dagger_{xx}}{\partial t^2} = \frac{d^2 \dagger_{1xx}(z_1)}{d z_1^2} + \frac{d^2 \dagger_{2xx}(z_2)}{d z_2^2}, \quad (25)$$

$$\frac{\partial \dagger_{xx}}{\partial x} = -\frac{1}{c} \frac{d \dagger_{1xx}(z_1)}{d z_1} + \frac{1}{c} \frac{d \dagger_{2xx}(z_2)}{d z_2}, \quad \frac{\partial^2 \dagger_{xx}}{\partial x^2} = \frac{1}{c^2} \frac{d^2 \dagger_{1xx}(z_1)}{d z_1^2} + \frac{1}{c^2} \frac{d^2 \dagger_{2xx}(z_2)}{d z_2^2}.$$

$$(25) \qquad (22) \qquad , \qquad E = \dots c^2,$$

$$\frac{2}{n}\Phi\left[\frac{d\dagger_{1xx}(z_{1})}{dz_{1}} + \frac{d\dagger_{2xx}(z_{2})}{z_{2}}\right]^{\frac{2}{n}}\left[\frac{d^{2}\dagger_{1xx}(z_{1})}{dz_{1}^{2}} + \frac{d^{2}\dagger_{2xx}(z_{2})}{dz_{2}^{2}}\right] - \left[\frac{d\dagger_{1xx}(z_{1})}{dz_{1}} + \frac{d\dagger_{2xx}(z_{2})}{dz_{2}}\right] = 0.$$
(26)
$$, \qquad x = c(t - 1), \qquad -$$

$$\begin{array}{cccc} (27) & & \\ \dagger_{2xx}(z_2). & , & t \ge \ddagger \\ \dagger_{2xx}(z_2) = \text{const.} & & \dagger_{1xx}(z_1), \end{array}$$

$$z_{1} = z = t - \ddagger -\frac{x}{t}$$

$$\dagger_{xx}(t, x) = \dagger_{xx}(z_{1}) = \dagger_{xx}(z) = \dagger_{xx}\left(t - \ddagger -\frac{x}{c}\right).$$
(28)

z) (

•

-

-,

_

ζ.

_

,

$$\frac{2}{n}\Phi\left(\frac{d\dagger_{xx}}{dz}\right)^{2/n}\frac{d^{2}\dagger_{xx}}{dz^{2}} - \left(\frac{d\dagger_{xx}}{dz}\right)^{2} = 0.$$
(29)

(29) :

$$\dagger_{xx}(0) = \dagger_{xx}^{*}, \quad \frac{d\dagger_{xx}}{dz}(0) = \dagger_{xx}(0).$$
 (30)

(29) ,

,

$$V_{xx} = -\frac{\partial u(x,t)}{\partial x} = \frac{1}{c} \frac{du(z)}{dz}, \quad V_x = \frac{\partial u(x,t)}{\partial t} = \frac{du(z)}{dz},$$

$$\dagger_{xx} = \frac{\partial \dagger_{xx}(x,t)}{\partial t} = \frac{d \dagger_{xx}(z)}{dz}.$$
(31)
$$\dot{V}_{xx},$$

$$\dot{V}_{xx} = \frac{\partial V_{xx}}{\partial t} = -\frac{\partial V_x}{\partial x} = \frac{1}{c} \frac{dV_x}{dz}.$$
(32)

$$t > 0, x = 0, V_x = V_x (t - \ddagger) = V_0 = \text{const}.$$
 (33)
(33)

(33)

,

$$V_{x} = V_{x}(x,t) = V_{x}(z) = V_{0} .$$
(34)

:

(34)

 V_0 .

(34)
$$\dot{v}_{xx} = 0$$
, (19)
, V_0 .
 V_0 .

(34) V _{xx} υ,

91

-

$$\dagger_{xx} = \Phi \left(\dagger_{xx}\right)^{2/n} - \frac{\tilde{E}}{E} \dagger_{xx} + \dagger_{s} .$$
(35)

-

(35),

$$E = 2,1 \cdot 10^{11}$$
 , $\dagger_s = 2,15 \cdot 10^8$, $\sim = 1,2 \cdot 10^8$, $\sim = 1,2 \cdot 10^8$, $\sim = 1,2 \cdot 10^8$, $k = 1,5 \cdot 10^8$. $\frac{1}{12}$, ... = $7800 - \frac{1}{3}$, $n = 24$, $\in = 0,25$.
(35),

$$1,405 \cdot 10^{7} \left(\left| \dagger_{xx} \right| \right)^{\frac{1}{12}} - 5,72 \cdot 10^{-4} \dagger_{xx} - \dagger_{xx} + 2,15 \cdot 10^{8} = 0.$$
 (36)

.



(36) (16), -





•

"

,

,

. 3.

$$\begin{array}{c} & \uparrow_{xx} \\ & , \\ \vdots z \to t - \ddagger -\frac{x}{c}. \end{array}$$

$$c = \sqrt{\frac{E}{\dots}} = 5100 - .$$

,
$$\sqrt{\frac{3}{2}s_{ij}^*s_{ij}^*} > t_s$$
,

.

$$\ddagger = \frac{\sqrt{\frac{3}{2}s_{ij}^*s_{ij}^*} - \dagger_s}{\sqrt{\frac{3}{2}\dot{s}_{ij}\dot{s}_{ij}}} ,$$
 (38)

93

,

$$\dot{s}_{ij}$$
 –

(5),

-

-

$$\sqrt{\frac{3}{2}} s_{ij}^* s_{ij}^* = \dagger_s + \frac{k^2}{\dagger_s} \left(\frac{3}{2} \dot{e}_{ij}^e \dot{e}_{ij}^e\right)^{2/n}.$$
(39)

•

$$e_{ij}^{e} = \frac{s_{ij}}{2G}, \qquad G = \frac{E}{2(1+\epsilon)}.$$
 (40)
(40)

(39),

$$\sqrt{\frac{3}{2}} s_{ij}^* s_{ij}^* = \dagger_s + \frac{k^2}{\dagger_s} \left[\frac{(1+\epsilon)^2}{E^2} \left(\frac{3}{2} \dot{s}_{ij} \dot{s}_{ij} \right) \right]^{\frac{2}{n}}.$$
 (41)

(41),

$$\sqrt{\frac{3}{2}}\dot{s}_{ij}\dot{s}_{ij} = \frac{E^{\dagger}s^{n/4}}{(1+\epsilon)k^{n/2}} \left(\sqrt{\frac{3}{2}}s^{*}_{ij}s^{*}_{ij} - \dagger_{s}\right)^{n/4}.$$
(42)

‡

$$\ddagger = \frac{k^{\frac{n}{2}}(1+\epsilon)}{E^{\frac{n}{4}} \left(\sqrt{\frac{3}{2}s_{ij}^{*}s_{ij}^{*}} - \dagger_{s}\right)^{\frac{n}{4}-1}}.$$
(43)

(13) n = 24,

$$\ddagger = \frac{k^{12} (1 + \epsilon)}{E \dagger_{s}^{6} (\dagger_{xx}^{*} - \dagger_{s})^{5}}.$$
(44)

(44)

$$\dagger_{xx}^{*}, \qquad \ddagger = 1,454 \cdot 10^{-4} c.$$

 $\ddagger_{xx}(x,t)$
(36)
 (44)
 $= 1,454 \cdot 10^{-4} c.$
 $= 1,454 \cdot 10^{-4} c.$

. 4.

94

,



$$1,405 \cdot 10^{7} \left(\left| \dot{u} \right| \right)^{\frac{1}{12}} - 5,72 \cdot 10^{-4} \dot{u} - u = 0.$$

$$\check{S} = \dot{u} = \dagger_{xx}.$$
(45)

(45)

,

$$1,405 \cdot 10^7 \left(|\check{\mathbf{S}}| \right)^{\frac{1}{12}} - 5,72 \cdot 10^{-4} \check{\mathbf{S}} = u.$$
(46)

(46)
$$z$$
,
 $\tilde{S} = \left(\frac{1,405 \cdot 10^7}{12} \left(|\tilde{S}|\right)^{-\frac{11}{12}} \operatorname{sign} \tilde{S} - 5,72 \cdot 10^{-4}\right) \tilde{S}$. (47)

$$\frac{dz}{d\check{S}} = \frac{1,405 \cdot 10^7}{12} \left(|\check{S}| \right)^{-\frac{23}{12}} - \frac{5,72 \cdot 10^{-4}}{\check{S}}.$$
(48)

(48),

$$z = -\frac{1,405 \cdot 10^{7}}{11} \left(|\tilde{S}| \right)^{-\frac{11}{12}} \operatorname{sign} \tilde{S} - 5,72 \cdot 10^{-4} \ln |\tilde{S}| + C.$$
(49)
(46), ,

$$\dagger_{xx} = 2,15 \cdot 10^8 - 5,72 \cdot 10^{-4} \check{S} + 1,405 \cdot 10^7 \left(\left| \check{S} \right| \right)^{1/2}.$$
 (50)

$$C = \frac{1,405 \cdot 10^7}{11} \left(|\tilde{S}_0| \right)^{-\frac{11}{12}} \operatorname{sign} \tilde{S}_0 + 5,72 \cdot 10^{-4} \ln |\tilde{S}_0| \,.$$
(51)

,

(48)

,

,

(54) (50),

$$1,17 \cdot 10^{6} - 5,72 \cdot 10^{-4} \left(|\tilde{S}| \right)^{11/12} = 0 \cdot$$
(53)

,

-

,

-

-

$$\check{S}_2 = 1,4362 \cdot 10^{10} - . \tag{54}$$

$$\dagger_{xx}$$
, $\check{S} = \check{S}_2$, -

$$\dagger_{xx}(\check{S}_2) = 3,0544 \cdot 10^8$$
 (55)

$$\dagger_{xx} (\tilde{S}_{2})$$
(50),
$$\dagger_{xx} (\tilde{S}_{2}) = 2,15 \cdot 10^{8} - 5,72 \cdot 10^{-4} \check{S} + 1,405 \cdot 10^{7} (|\check{S}|)^{\frac{1}{12}}.$$
(56)
(56)

$$\check{S}_1 = -3,7836 \cdot 10^9 - , \quad \check{S}_2 = 1,4362 \cdot 10^{10} - .$$
 (57)

$$\check{S}_{_{3}}, \qquad \qquad \check{S}_{_{2}}$$

$$\tilde{S}_{3} \qquad (52) \qquad \tilde{S}_{0} \rightarrow \tilde{S}_{2}, \ z \rightarrow 0. \qquad , \qquad (52) \qquad 5,72 \cdot 10^{-4} \ln \left| \frac{\tilde{S}_{2}}{\tilde{S}} \right| + \frac{1,405 \cdot 10^{7}}{11} \left(\left(\left| \tilde{S}_{2} \right| \right)^{-\frac{11}{12}} \operatorname{sign} \tilde{S}_{2} - \left(\left| \tilde{S} \right| \right)^{-\frac{11}{12}} \operatorname{sign} \tilde{S} \right) = 0. \quad (58)$$

$$\check{S}_3 = -5,7979 \cdot 10^{11} - .$$
(59)

(36)

-

_

, *z*

$$\Delta z_0 = 0,003436 \,\mathrm{c}, \quad \Delta z_1 = 0,003509 \,\mathrm{c} \,. \tag{60}$$

,

,

$$\dagger_{xx}(z)$$

,
$$z \in [0, \ddagger],$$

 $\ddagger_{xx}^* = 3,55 \cdot 10^8$

 $z \in [\ddagger, \ddagger + \Delta z_0],$

(50) (52).

$$z \in [\ddagger + \Delta z_0, \ddagger + \Delta z_0 + \Delta z_1]$$
(52) $\check{\mathsf{S}}_0 \rightarrow \check{\mathsf{S}}_3$.

$$\dagger_{xx}(z)$$





•









11.05.2017, 12.06.2017

_